o(d dxy) (cm)

Ratig:

H

[

++*+++++**+++++++++++#+++++H‘++++

—3—i2—16i12ié

o(d dz) (cm)

Ratig:

o
©
a

o

++++++++++++++++++++++++++++++++++

=
LA |+| UL

S S N R

|
w

—a— DOM_mkFit_TToriginal
—e— DQM_mkFit_TTNEW

—+— DQM_mKFit_TTNEWS50
—— DQM_mkFit_ TTNEW100

mline)

..........................................................................

#+++++++++++++=++++4ﬁ+++++++*++++++++

=3 —i2 51 6 i é é
TP ® (PCA to beamline)

o(@p_Ip.)

GOAH

Rati

0.95

=

W*#Hﬂﬁ*#ﬁﬁ*##ﬂww

=3 —i2 51 6 i é é
TP ® (PCA to beamline)



	Contents
	Page 1


